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ATl TR "I 3TeT91-37el 9T Ql'é'ﬁ EITFﬁ e Sil Seven friends are visiting seven different cities
3v_c°f ﬁTI'GIT AHIEHY, ag@T3 3 31'3'#%3'1' namely, Jhansi, Delhi, Ooty, Shimla, Amritsar,
WE"TTEIWT?% aﬁmaﬁaﬁﬁ:gﬁrm Lucknow, and Bhuvneshwar but not

fl'é’fl grl'a"rsnﬁaraT—qﬁ-T-r qTGAS ST necessarily in the same order. The one who
grel Sgfd & & FYT 3T g1 IHTHT STet visits Jhansi is immediately above the one who
gre gt d 31X AT Siet aret Eﬂ'ﬁ-ﬂ' & visits Lucknow. There are only two persons
e had &l gfFd %I 3l ST Tl S Tohd between the one who visits Amritsar and the
HAJEHT a W%@'ﬁﬁ' HAEI AT ared one who visits Jhansi. The one who visits Ooty
qTed F 8F W gl g fRYFTIT STeY aTeY is above Amritsar but not immediately above
gfFd 3R FE I arel sFfFd & AT the one who visits Amritsar. Only three

had did ATFd & &1 ag AT ST persons are between the one who visits

HT:Iﬁ'QHT EI'IT-lT% a'g.'ﬂﬂmaﬁ dTel sIfod Shimla and the one who visits Ooty. The one
37 3 I %I el &1 T T arel 3R who visits Bhuvneshwar is immediately above
HT:Iﬁ'QHT SATa arel safFd & T hae T the one who visits Shimla. Only one person is
TIﬁ'T-I'%' there between the one who visits Delhi and
the one who visits Bhuvneshwar
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Seven friends are visiting seven different cities
namely, Jhansi, Delhi, Ooty, Shimla, Amritsar,
Lucknow, and Bhuvneshwar but not
necessarily in the same order. The one who
visits Jhansi is immediately above the one who
visits Lucknow. There are only two persons
between the one who visits Amritsar and the
one who visits Jhansi. The one who visits Ooty
is above Amritsar but not immediately above
the one who visits Amritsar. Only three
persons are between the one who visits
Shimla and the one who visits Ooty. The one
who visits Bhuvneshwar is immediately above
the one who visits Shimla. Only one person is
there between the one who visits Delhi and
the one who visits Bhuvneshwar
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/. OOtV How many people are visiting between the one who visits
6. Delhi Ooty and the one who visits Bhuvneshwar?
. A. One B. Two C. Three D. Four E. None

3 Amritsar
4. Bhuvneshwar

: Which of the following city is visited immediately before
3. Shimla Delhi?
2. Jhansi A. Ooty B. Amritsar C. Delhi D. Bhuvneshwar E.

None

1 Lucknow

Which of the following cities are there between Jhansi
and Amritsar?

A. Shimla, Bhuvneshwar

B. Ooty, Shimla

C. Lucknow, Delhi ‘|
D. Lucknow, Ooty
E. None of these
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/ Ooty Which of the following condition is correct regarding Amritsar with

b. Delhi respect to Bhuvneshwar?

3 Amritear A. There is one city between Bhuvneshwar and the one who visits

Amritsar

4. Bhuvneshwar | B, Bhuvneshwar is immediately above the one who visits Amritsar

3, Shimla C. All the above are true

) Jhansi D. The one who visits Amritsar is the person immediately above
Bhuvneshwar s

L. Lucknow | E. None of these l— ]

AN

Which of the following cities is there exactly between Delhi and
Jhansi?

A. Amritsar B. Ooty C. Shimla D. Lucknow E. None of
these
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NKT BEA DNU ICN GLP

In each of the word if we interchange the first letter with third, then the first letter with the
second one, then which of the following is the third word according to English dictionary

(answer in terms of original word)? gl eMec H Il gH Ugo 378 & day &, Y
Ugd & HI ¥ ggd &, a A AseAT F (AR mfaf@a & & Fia
|1 AT Asq § (3T H{A Asq & A H)?

A. NKT B. BEA C.DNU D.ICN E. None of these

If we interchange second letter with third and then first letter with third letter then what
will be the value if we add all the place values of first letter in each word thus formed?

afg & q@EY e A S F AR BT 9ga 31eW F1 A e § 9g & dr
YhR o Tcdd Use A Ugd 3EW & T TINT AT SS9 FAT AT {IEN?

A.30 B.35 C.40 D.45 E.None of these

=
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NKT BEA DNU ICN GLP

If we add all the letters place value in each word then which of the following word
number is completely divisible by 9?

Ifg &7 9 AF weg H welt anawt #1 Tunly A Sz & o Aewfaf@a #
¥ i A ereq WEAT 9 F qUI: fasnfara gef?

A. BEA B. NKT C. DNU D. ICN E. None of these

it
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mwﬁ%ram‘lr-[s, TUVWXY IRz There are eight persons namely S, T, U, V,
U U TS dh TS HAN-3 9T AfoTall I W, X, Y and Z lives on eight different floors
%ﬁ'%l STdol &AT 1 %‘3‘ﬁT ofiY o TEaT from one to eight. Ground floor is number 1
m%ﬁ%mwaﬁsﬁrw:ﬁre’n and top floor is number eight but not
X fAyHT FEararel AT W wEgare necessarily in the same order. X lives on
mmmwaﬁw%l Z, X% odd number floor but does not live on 3rd
G Fﬁﬁ'%?ﬂ%l ZIRYFNTqT floor. Z lives immediate below X. More than
mwﬁawﬁ%l s 3Ty ﬂ:a‘hra'g two person lives between Z and Y. There
FT /Al V, W & S FUTI@dT g are six person lives between S and Y. V lives
CIC G R ?Fﬁﬁ'ﬁ?ﬂ%l U, X ?WH?[ immediate above W but live below T. U
E?IT%I wW,Y a:aﬁa:ma'é"rw%l . does not live above X. W does not live
immediate above Y.
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There are eight persons namely S, T, U, V,
W, X, Y and Z lives on eight different floors
from one to eight. Ground floor is number 1
and top floor is number eight but not
necessarily in the same order. X lives on
odd number floor but does not live on 3rd
floor. Z lives immediate below X. More than
two person lives between Z and Y. There
are six person lives between S and Y. V lives
immediate above W but live below T. U
does not live above X. W does not live
immediate above Y.
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Floor | Person Who lives on floor number five?

g g (a) U (b) S (c) Z(d) T (e) None of these

7 X How many persons live between W and X?

6 7 (a) One (b) Three (c) Five (d) Two (e) None of these

5 T —F

v Who lives immediate above V?

4 (a) Z (b) T (c) Y (d) W (e) None of these

3 W

2 U Four of the following five are alike in a certain way based on the

1 Y given arrangement and thus form a group. Which is the one that
does not belong
to that group?
(@) Y(b)V(c)T(d) X (e) W

Who lives on 2nd floor?

(a) X (b) S (c) U (d) Z (e) None of these [— ]

AN
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(a) If only Conclusions I follows Statement-
(b) If only Conclusions II follows Some Dares are Dream.
(c) If either Conclusions I or Conclusion II follows All Dreams are Real.
(d) If neither Conclusion I nor Conclusion II follows | | No Real is Fake.
(e) If both Conclusion I and II follows Conclusion:-
[. Some Dreams are Fake.
[I. All dream is not fake.

Statement-

No Rain is Game.

Some Games are Chain.
No Chain is Lane.
Conclusions:

I. Some Chains are not Rain.
II. Some Games are Lane.
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Statement-

Some Movie are Ticket.

No Ticket is Popcorn.
Some Popcorn is Burger.
Conclusions:

I. Some Movies are Burger.

I1. Some Burgers are not Movie.

(a) If only Conclusions I follows

(b) If only Conclusions II follows

(c) If either Conclusions I or Conclusion II follows
(d) If neither Conclusion I nor Conclusion II follows
(e) If both Conclusion I and II follows
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(a)If only conclusion | follows.

(b) If only conclusion Il follows.

(c) If either conclusion | or Il follows.
(d) If neither conclusion | nor Il follows.
(e) If both conclusion | and Il follow

. Statements: Z>W>V=K<[ <]

Conclusion:
I. W>K
II. [>K

. Statements: Q>B, K<E<B, J2E, R<Q

Conclusion:
I. Q>K
II. Q=E

.Statement: E=F<G<H; G221

Conclusions:
L H >
II. E>1

=i
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ABBCDEFEIBCAFECBBACAOBNUVW

How many C’s are there in the alphabetical series which are immediately preceded by
a vowel and immediate followed by consonant? JoTHTAT 8R§IT~|T H 0O frdar c®
% S1F Tga Th TR R OF ag F v T §7

(a) One (b) Two (c) Three (d) More than three (e) None of these

If all the vowels are dropped from the series, then which alphabet will be eighth

fromtheleftend?zlﬁ’&i'@m H O gAY T&@O & garl fear Sre, ar &l 91
got 910 SR & 1S4 81N?
(a) C(b) B (c) N (d ) F (e) None of these

How many total vowels in the alphabetical series? JUTHTT &I'@T*lT H ﬂ' fpder TaX
¥4

(a) Five (b) Ten (c) Three (d) Nine (e) None of these
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ABBCDEFEIBCAFECBBACAOBNUVW

How many Vowels are there in the alphabetical series which are immediately preceded by
a consonant?

qUIATET H@ell # W Faa T & O SF gger v saore 872
(a) One (b) Two (c) Four (d) More than Five (e) None

If the position of the 1st and the 14th alphabets, the 2nd and the 15th alphabets, and so on
up to the 13th and the 26th alphabets, are interchanged, Then which alphabets will be 7th
to the right of 10th alphabets from the right end? If¢ Tgar 31X 149 318, Q‘l‘ 3R
159 378X 3T 3 avg 139 3R 269 31eW d& H AT & 399 F s e
ST, dt FiT A7 I’ g B8R & 109 ’&R/ & g § 7aT gm?
(a) A (b) C(c) N (d)B (e) None of these
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faffte=t Hegast & e Ate § 3rdTa There are eight notes of different

1,5,20,50,100,200,500,2000 I AT denominations i.e.

U JeThR STGEUT A g 1 3 AT 1,5,20,50,100,200,500,2000 rupees which
Wmmm%maﬁ% are arranged in a circular arrangement

E?ﬁ FHHA E’fl 50 $I & s11C T 200 facing towards the centre not necessarily in
m*m*aﬁ?ﬁmWFﬂﬁW the same order. 50 rupees note is arranged
aaaﬁa?r%mwﬁ ﬁww second to the right of 200 rupees note. Odd
&I AT 200 31T 50 YA F IE BT denominations note will not be immediate
ﬁlqugwﬁaﬁg’mr 1 39T & slc neighbour of 200 and 50 rupees note. There
P! BISHT 100 FIT & 51T & Sh C)1y will be less than 100 rupee denomination
3 Il E1T 100 FYT a\waﬁ? note to the immediate left and immediate
H’IEE'TTTI 100 TYT FHT Al 5 YT & dAlC right of 100 rupees note except 1 rupee
?W@'WW‘R’%I 2000 ¥YU ohl note. 100 rupee note is second to the left of
F!’I? dT¢ 100 39T & sIC & 91G W 5 rupees note. 2000 rupees note is second to
JaT 9T g the left 100 rupees note.
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There are eight notes of different
denominations i.e.
1,5,20,50,100,200,500,2000 rupees which
are arranged in a circular arrangement
facing towards the centre not necessarily in
the same order. 50 rupees note is arranged
second to the right of 200 rupees note. Odd
denominations note will not be immediate
neighbour of 200 and 50 rupees note. There
will be less than 100 rupee denomination
note to the immediate left and immediate
right of 100 rupees note except 1 rupee
note. 100 rupee note is second to the left of
5 rupees note. 2000 rupees note is second to
the left 100 rupees note.
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Which rupee note will be arranged to the immediate left of 50

20 rupees note? (a) 100 (b) 2000 (c) 500 (d) 5 (e) None of these

5 100

Which rupee note will be arranged to the third to the right of 5 rupees
50 note?
(a) 2000 (b) 100 (c) 200 (d) 20 (e) None of these

What will be the sum of note which is immediate left of 50 rupees note
2000 and immediate right of 500 rupees note?
200 (a) 2100 (b) 550 (c) 700 (d) 2200 (e) None of these

500

Which denomination note are between 1 and 100 rupees note, when
counted clockwise from 1 rupee note?

(a) 5 and 20 (b) 50 and 100 (c) 200 and 2000 (d) 1 and 500 (e) None of
these

Which rupee note will be arranged to the third to the right of 2000

rupees note?
(a) 2000 (b) 100 (c) 200 (d) 20 (e) None of these
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834 427 563 649 975

If all the digits of numbers are arranged in ascending order within the number, then which of the

following is lowest number? I maﬁ & AT T I WT & Har IRE FH H
gafeyd fFar aar g, @ T & @ Fiad & g9@ S g g7
(a) 975 (b) 649 (c) 834 (d) 563 (e) None of these

If 1st digit of highest number is divided by 2nd digit of 2nd highest number, then what will be the
resultant?

IfE FaH T3 AT & Tgd 3 H gl Fad 981 &A1 & q@¥ 37 4 fqsnfora o
STaT &, ar aRome =11 gem?

(a) 2 (b) 3 (c) 4 (d) 5 (e) None of these

If 2 is subtracted from the every even digit and 1 is subtracted from every odd digit number of
each number, which number among them will be lowest number? Ife I TH 3 § F 2
ST AT § 31X 93+ T 7 93+ Q9T 3 T&ar § & 1 ge[™m Iar g, df 308
¥ i d@ g&ar g9d@ S gEar gei?

(a) 834 (b) 427 (c) 563 (d) 649 (e) None of these
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834 427 563 649 975

What is’addition of 3rd digit qf highest numbgr and 2nd digit of lowest number? Tad Ts& JE&qT &
A 31 3R gad B FEAT F gAY HF FT AT FAT 87
(a) 7 (b) 6 (c) 4 (d) 3 (e) None of these

If 1st digit of 2nd highest number is divided by 1st digit of lowest number, then what will be the
resultant?ﬂﬁmmaﬁm*mﬁﬁmmma?mﬁﬁ
fsnfora frar mar 8, oY 9o F=4m ghen?

(a) 5 (b) 3 (c) 2 (d) 4 (e) None of these

If 1 is subtracted from each even number and 2 is subtracted to each odd number in the number
5827936, then how many digits will appear twice in the new number thus formed? gfe &
5827936 H UA® WH WEAT & ¥ 1 "ewrT JAdm § 3 vq+ WA g&ar & 2 gern
STl &, Y 39 YR d) oI5 &A1 H fFdel 3+ qr I 3mear?

(a) Only 7 (b) Only 5and 7 (c) 1, 5 and 7 (d) 4, 5 and 9 (e) None of these
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How many letter will be remain at the same position in the word ‘SURFACE’ when they are
arranged in the alphabetical order from left to right?

eTec smmce#ﬁmﬁammmmq%ﬁma—gwﬁaw#m#m
caqiead fhar SATeam?

(a) four (b) Three (c) One (d) Two (e) None of these

it
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There are five personi.e. P, Q, R, Sand T. If Q is taller than R and S but smaller than T.S is
smaller than T, who is not the tallest. Then who is the tallest person among all?

qrT gfdd § 39T P,Q,R, SR TII QRIR s w1 § afFa 7@ sler g1 S, T
¥ BT g, S O o«r JA81 gl ar gt F §aq oar gfFa sia 8?2

(a) T (b) Q(c) S (d) P (e)None of these

it
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How many pairs of letters are there in the word “SENATOR” which have as many letters
between them in the word as in alphabetical series?

QT “SENATOR” & 38T & WH fhdar a8 § s &g 39+ € s § oaa &
Asq H TUIeTheA A 87

(a) None (b) One (c) Two (d) Three (e) Four

it
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3Ts AT A, B, C, D, P, Q, R 31T s Uer €ty Y@t
H 33 § (Afhet T 781 &6 st war A @)
3R ¥ $S HT {E AT 1 AR § T4F FO
1 7@ e T AR &1 afdror A gad
faila)| @ i a & B & IRAAF SR W
43181 C, Q &F I ¥ N TATH W 3T 71 B,
QF AFecam A AT EI P cHFRA A
Y TUTT G ST § | A FTHE I HT 3R T
D, P & &1 ¥ YT ¥ D UfFa & fpelt st
faA R WAL doTgI RIRNBFNTA
Fd T STTFd do1 g1 P, R 910 A g8
TAT R S8BTl S, D F S T THY TUTT W
43T 81 P % gl fshean TH-gil &
AT feem Y 3 37T &1 C & Sl
fsed® T2Ri v gt & R R
3T 37 8. S FTHE D & THTT e 1 3T
g ARAFT AR F GATT fem AT 3R 8

Eight friends A, B, C, D, P, Q, R and S are sitting in a
straight line (but not necessarily in the same order).
Some of them are facing south while some are facing
north.(Note: Facing the same direction means. If one is
facing north then the other also faces north and vice
versa. Facing opposite directions means. If one is
facing North then the other faces south and Vice
versa). Q sits at one of the extreme ends of the line. C
sits third to the left of Q. B, is not an immediate
neighbour of Q. P, sits third to the right of C. A faces
north. D sits to the immediate right of P. D does not
sits at any of the extreme end of the line. Only one
person sits between R and B. P sits second to the left
of R. S sits second to the right of D. Both the
immediate neighbour of P faces the same direction to
each other. Both the immediate neighbour of C faces
the opposite direction to each other. S faces the same
direction as D and A faces the same direction as R
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Eight friends A, B, C, D, P, Q, R and S are sitting in a
straight line (but not necessarily in the same order).
Some of them are facing south while some are facing
north.(Note: Facing the same direction means. If one is
facing north then the other also faces north and vice
versa. Facing opposite directions means. If one is
facing North then the other faces south and Vice
versa). Q sits at one of the extreme ends of the line. C
sits third to the left of Q. B, is not an immediate
neighbour of Q. P, sits third to the right of C. A faces
north. D sits to the immediate right of P. D does not
sits at any of the extreme end of the line. Only one
person sits between R and B. P sits second to the left
of R. S sits second to the right of D. Both the
immediate neighbour of P faces the same direction to
each other. Both the immediate neighbour of C faces
the opposite direction to each other. S faces the same
direction as D and A faces the same direction as R
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N I N I I T ’i\ How many persons sits between D and A?

I
v o I |
S b *%;‘ R g/ ‘é’ A Q (a) One (b) None (c) Three (d) Two (e) None of these

Who among the following pair sits at extreme ends ?
(a)S,Q(b) D, Q(c) Q,R(d)S, R (e) None of these

Who sits third to the left of D?
(a) R (b)B (c) Q (d) C (e) None of these

Who sits immediate right of B?
(a) A(b) C(c) R(d) S (e) None of these

Four of the following five are alike in a certain way based
on the given seating arrangement and thus form a group.
Which is the one that does not belong to that group?
(@)A(b)C(c)S(d)B(e)D



http://www.mahendras.org/



http://www.mahendras.org/

